
F I T S :  DY N A  M O D E L S  U S I N G  S T O C K  H - D  F O R WA R D  C O N T R O L S

PART#  I N C L U D E D
401250 2 Forward Control Extension Plates — Chrome
401251 4 Countersunk Trim Plates — Chrome
200234 5 3/8”–16 x 1-1/4” Flat Head Cap Screws — Chrome
200237 4 3/8”–16 x 1” Flat Head Cap Screws — Chrome
401252 1 Brake Rod
401253 1 Shift Rod
200336 2 5/16”–24 Skirted Jam Nuts — Chrome
400730 1 Universal Joint
400526 1 Heavy Duty Universal Joint
401254 1 Brake Pivot End Cap — Chrome
401255 1 Brake Pivot Spacer — Chrome
200460 1 3/8”–16 Nylock Nut – Chrome 
200331 2 5/16”–24 Nuts — Chrome
401303 1 Female Clevis — Chrome
400373 1 1/4” x 1” Clevis Pin — Stainless
200045 1 1/16” x 1” Cotter Pin
200032 1 .258 I.D. x .400 O.D. x .030 Thick, Flat Washer
200335 2 5/16"–24 Nylock Nut — Chrome 

T O O L S  S U G G E S T E D
T45 Torx wrench, 7/32 Allen wrench, Small pliers, 7/16” and 1/2” Combination wrenches

P R O C E D U R E AVERAGE TIME:  60 MINUTES
STEP 1 Remove from motorcycle — complete shift and brake plates, complete shift and
brake linkages.

STEP 2 Using four 3/8”–16 x 1-1/4” flat head cap screws and two of the countersunk trim
plates, attach the two chrome extension plates to the frame so they extend straight
forward. The two threaded holes in the extension plates should be on the leading edge.

STEP 3 With the 3/8”–16 x 1” flat heads and remaining two trim plates, secure the stock
shift and brake plate assemblies to the extension plates. Secure the brake pedal to the brake
plate with a 3/8"–16 x 1-1/4" Flat head cap screw,  brake pivot spacer, and brake pivot end
cap.  This assembly is threaded into a 3/8"–16 nut that "drops" into a hex shaped recess on
the back side of the brake pedal pivot.They should now be in the same orientation as stock,
but positioned 3” farther forward.

STEP 4 Each extended control rod will be installed with the bends closest to the front of
the motorcycle. Install the shift rod on the transmission mounted shift lever on the rear, and
the stock shift lever assembly on the front. The shift lever position may be adjusted by
lengthening or shortening the shift rod. 

-cont.-

9062-23HD-0902

EXTENS ION  K I T  FOR  DYNAS 9062

I N S TA L L AT I O N

Illiana

E - M A I L

techsupport@kuryakyn.com

WA R R A N T Y
Küryakyn™ warrants that any Küryakyn product 

sold hereunder, if properly installed, maintained
and operated under normal conditions, shall be free

from any defects in materials and workmanship
for a period of one (1) year from the date the
Küryakyn products are sold to the customer.

CONSEQUENTIAL DAMAGES:
Küryakyn shall not be liable for any

consequential or incidental damages.

A B O U T O U R C ATA L O G
You’ll find all our innovations for H-D, GL and 

Metric Cruisers in our annual catalogs. Order online
today–select the ”CATALOGS” icon. Each Küryakyn™

product comes with a Proof-of-Purchase good for a
complimentary catalog. Details in packaging.

Be sure to ask your local dealer about other
Küryakynproducts, the motorcycle parts and

accessories designed for riders by riders.

©2001 Küryakyn USA™ All Rights reserved.



STEP 5 Install the female clevis on the front of the brake rod. Screw the brake rod into the
master cylinder almost all the way for now. Temporarily install the clevis to the brake lever so it
may be adjusted. Lengthen or shorten the brake rod as needed to achieve best brake pedal
position for you. Be sure the pedal placement allows the master cylinder to release completely.
Tighten the jamb nuts at the master cylinder and clevis. Place the small flat washer on the clevis
pin and install the cotter pin, locking the clevis pin in place.

STEP 6 Check the tightness of all related fasteners.

Ride On!

PA G E

2
I N S T A L L A T I O NEXTENS ION  K I T  FOR  DYNAS


